
 

 

This section is to be completed having corrected the question. Enter your score in the box above ↑. 

Thoughts (Easy/ Hard, State the Topic, Links to other Topics, Similar Questions?) 
 

 

What formulae or rules did I need? Is there anything I should learn off? 
 

 

Is there anything I still don’t understand? What do I need to revise? Should I return to this question? 
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▶ 2021 LCOL Paper 1 – Question 4 (a) 

Solve the equation: 

4(2𝑥 + 3) − 7 = 3(𝑥 − 5), where 𝑥 ∈ ℝ. 
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▶ 2021 LCOL Paper 1 – Question 4 (b) 

Solve the simultaneous equations: 

2𝑥 − 𝑦 = 7 

𝑥2 + 𝑦2 = 49 

 

 


